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���	 Rn

Rn � x = (x1, x2, . . . , xn)
α, β ∈ R, z = α x + β y � zi = αxi + βyi

0 ≡ (0, 0, . . . , 0)

�
������� ��������

〈x, y〉 =
n∑

i=1

xiyi = x1y1 + x2y2 + · · ·xnyn

��������	 �
�������� ���������

�i � ����������	�
〈x, x〉 ≥ 0
 〈x, x〉 = 0 � x = 0

�ii � ���

���������	�
〈x, y〉 = 〈y, x〉

�iii � � ����	

������	�
〈z, α x + β y〉 = α 〈z, x〉 + β 〈z, y〉
〈α x + β y, z〉 = α 〈x, z〉 + β 〈y, z〉

�iv � ��� �������
���
�� ∀ y, 〈x, y〉 = 0 � x = 0



norm ‖ x ‖≡
√
〈x, x〉 =

√
x2
1 + x2

2 + · · ·x2
n

������� Cauchy-Schwartz

| 〈x, y〉 | ≤‖ x ‖ · ‖ y ‖

| 〈x, y〉 | =‖ x ‖ · ‖ y ‖ ⇔ x = α y

��	
����� norm

�i � ����������	�
‖ x ‖≥ 0 �	� ‖ x ‖= 0 � x = 0

�ii � ‖ αx ‖= |α| ‖ x ‖

�iii � � �
���
��� �������	�
‖ x + y ‖≤‖ x ‖ + ‖ y ‖

��������

‖ x − y ‖2 + ‖ x + y ‖2 = 2
(
‖ x ‖2 + ‖ y ‖2

)

〈x, y〉 =
1

4

(
‖ x + y ‖2 − ‖ x − y ‖2

)

〈x, y〉 = 0 � ‖ x + y ‖2 = ‖ x ‖2 + ‖ y ‖2

‖ x + y ‖≤‖ x ‖ + ‖ y ‖



�������� d(x, y) ≡‖ x − y ‖
��	����
� ���������

�i � ����������	�
d(x, y) ≥ 0 �	� d(x, y) = 0 � x = y

�ii � �
�����
������	�
d(x, y) = d(y, x)

�iii � � �
������� �������	�
d(x, z) ≤ d(x, y) + d(y, z)
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d1 (x, y) =
n∑

i=1

|xi − yi|

d (x, y) ≤ d1 (x, y) , d1 (x, y) ≤ n d (x, y)

d∞ (x, y) = max {|xi − yi|, i = 1,2, . . . , n}
d (x, y) ≤ √

n d∞ (x, y) , d∞ (x, y) ≤ d (x, y)

dp (x, y) =

(
n∑

i=1

|xi − yi|p
)1/p
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���� {xk}k∈N{
lim

k→∞
xk = x

}
⇔{

∀ ε > 0, ∃N(ε) > 0 :
k > N(ε) � d(xk, x) =‖ xk − x ‖< ε

}

�
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B(x, r) ≡ {y ∈ R : d(x, y) < r}
{

lim
k→∞

xk = x

}
⇔

{
∀ ε > 0, ∃N(ε) > 0 :

k > N(ε) � xk ∈ B(x, ε)

}

X

X1

X2

X3

Xk

ε



xk = (xki)i=1,2,...,n = (xk1, xk2, . . . , xkn)�

x = (xi)i=1,2,...,n = (x1, x2, . . . , xn)

�����

{
lim

k→∞
xk = x

}
⇔

⎧⎨
⎩

i = 1, 2 . . . , n
lim

k→∞
xki = xi

⎫⎬
⎭
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lim
k→∞

xk = x � lim
k→∞

‖ xk ‖ =‖ x ‖
� lim

k→∞
‖ xk − x ‖ = 0

lim
k→∞

xk = x,

lim
k→∞

yk = y

⎫⎬
⎭ � lim

k→∞
αxk + βyk = αx + βy

� lim
k→∞

〈xk, yk〉 = 〈xk, yk〉
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{
lim

k→∞
xk = x

}
⇒

⎧⎨
⎩

i = 1, 2 . . . , n
lim

k→∞
xki = xi

⎫⎬
⎭

����	
� ��
��������� ���������� {xk}k∈N{
lim

k→∞
xk = x

}
⇔{

∀ ε > 0, ∃N(ε) > 0 :
k > N(ε) � ‖ xk − x ‖< ε

}

|xki − xi| ≤‖ xk − x ‖=
√√√√ n∑

�=1

|xk� − x�|2 �

{
∀ ε > 0, ∃N(ε) > 0 :

k > N(ε) � |xki − xi| < ε

}
� lim

k→∞
xki = xi

�����

⎧⎨
⎩

i = 1, 2 . . . , n
lim

k→∞
xki = xi

⎫⎬
⎭ ⇒

{
lim

k→∞
xk = x

}

{
lim

k→∞
xki = xi

}
�

{
∀ ε > 0, ∃N(ε) > 0 :

k > N(ε) � |xki − xi| < ε

}

lim
k→∞

xki = xi �
{ ∀ ε > 0, ∃Ni(ε) > 0 :

k > Ni(ε) � |xki − xi| < ε√
n

}

k > max {N1(ε), N2(ε), . . . , Nn(ε)} �
‖ xk − x ‖2 =

n∑
i=1

|xki − xi|2 < nε2

n
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�� Cauchy {xk}k∈N{
∀ ε > 0, ∃N(ε) > 0 :

k > � > N(ε) � ‖ xk − x� ‖< ε

}
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{
� ��	
	��
� {xk}k∈N

�
��� ��	
	��
� Cauchy

}
�

⎧⎪⎨
⎪⎩

��� i = 1, 2, . . . , n
	� ��	
	��
�� {xki}k∈N

�
��� ��	
	��
�� Cauchy

⎫⎪⎬
⎪⎭
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� ��	
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� {xk}k∈N ����

��� ⇔
� ��	
	��
� �
��� Cauchy
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B(x, r) ≡ {y ∈ R : d(x, y) < r}

������� ��	��
�� ��
�� � ����	�

B(x, r) ≡ {y ∈ R : d(x, y) ≤ r}

�	�����

������� ������ A ⊂ Rn �
{∀x ∈ A, ∃ ε(x) >) : B(x, ε(x)) ⊂ A}

x

ε x

ε

�	�����

������� ������ K ⊂ Rn �
�� ������	��� KC ������� ������

�	�����

�� �� ���� ��� ���������� xk �������

��� ������� K ��� ��
	
�� �� �	�� x =

lim
k→∞

xk ���� x ∈ K
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���� F ⊂ Rn �
∃R > 0 : F ⊂ B

(
0, R

)

�������

�����	
� �
���� C ⊂ Rn �
C ����� ������� ��� ���	�
��

0

R

��������� C ���	
��
 �
� x ∈ C � ��
 i = 1,2, . . . , n

�
 ������ |xi| < R

�������

�� �� �
�� ��� ���������� xk �������

��� �����	
� C � ������� ��� ��	����

����� ����������� xk�

��������� xk = (xki)i=1,2,...,n = (xk1, xk2, . . . , xkn)

� � 	
���
��	 ���	� {xk1}k∈N
��	�����

� 
������ ��	 
�	
���
��	 xk1 1 ��
 �
�
���� lim
k1→∞

xk1 1 =

y1

� � xk1
���	� ��	 
�	
���
��	 ��� xk� 
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��	 xk2
��� 	
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��	� xk1
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�
�������� ��� xk2
�	 �
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� �� ��	 	����� y2� "#�

������ �
�������� �
�
����
� ��� y1 $� %��� ��	�� 
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��	 xk3
��� xk2
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n �
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xkn
��� ����	� 
	� �� n �
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